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SN AR
M DFE sats da|g 25
Rl AEO OHEA A A= EER=E)
SA - A - S9I(E) - HIRAY - BES o &t e HIDE2
OLIZ0I22 X} JIsAH HE 975,000
= 750,000
= 225,000
eI=eIAHEZZA K& 364,500 105,000 259,500
308 REXIHMSOIH 364,500 105,000 259,500
01 X SHHBAEXS 364,500 105,000 259,500
O2FHE2ZA NEE e XA 330,000
Ogl=el HE22NH &2 X& 34,500
S&Z MM BEE X (SHEEEXR) 14,348,400 11,745,900 2,602,500
308 AXIHMSO0IA 14,348,400 11,745,900 2,602,500
01 HRESHH B EES 14,348,400 11,745,900 2,602,500
OsgolotMIfi 2 K& 1,305,900
Os&AESMl2E XI& 11,971,500
OsIIHSEEE K& 1,071,000
THOHCHZY B H A= OIKHKI# 100,500 0 100,500
307 QIztol ™ 100,500 0 100,500
08 OIXtEXNZ 100,500 0 100,500
OTHolCHE BSEXt= OIKHAIA 100,500
JlEd SAXZHM X2 A 381,024,000 355,000,000 26,024,000
| 381,024,000
308 KEXIEHHMSOIS 381,024,000 355,000,000 26,024,000
J| 381,024,000
01 AXHHBAELS 381,024,000 355,000,000 26,024,000
OJl2g sAXM=EHM XN 381,024,000
Il 381,024,000
SAREH HHH| X2 (=) 55,000 55,000 0
Pl 55,000
201 Zet2 & 46,000 46,000 0
J| 46,000
01 AF22t2ltl 46,000 46,000 0
O =S HAIS 2t 16,000
| 16,000
OSUX=SHAMSH &SR Z 30,000
Il 30,000
202 O] 9,000 9,000 0
| 9,000
01 =LA LI 9,000 9,000 0
OZ3AXESMAIA =T 0] 9,000
J| 9,000
SAXNZN HEH N (AZEA) 1,348,460 1,328,060 20,400
Il 1,348,460
308 XXM SOIA 1,348,460 1,328,060 20,400




SN AR
33 IFE sits dabje 5
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 1,348,460
01 HASHHBSEEXS 1,348,460 1,328,060 20,400
OSAUXN=MELZEHIXNZ 120,060
Il 120,060
OSUHEMAIEFA HHH A& 1,228,400
) 1,228,400
e SAMEM 3,000,000 2,500,000 500,000
Jl 3,000,000
308 AFAIEHMSOIE 3,000,000 2,500,000 500,000
7l 3,000,000
01 HXHHBAEES 3,000,000 2,500,000 500,000
O=gsaI =X 3,000,000
) 3,000,000
STEE s02 =& XN& 56,168,000 51,218,000 4,950,000
201 Ler=23| 18,000 18,000 0
2 s5=34l 18,000 18,000 0
Os0l8l=g 2N AL KX 18,000
308 AtXIEHMSOIE 56,150,000 51,200,000 4,950,000
01 HASHHBSEXS 56,150,000 51,200,000 4,950,000
Os8Er s0d =& A& 56,150,000
Sgs0ts+d dddl X 520,000 0 520,000
308 XXM SOIA 520,000 520,000
01 AXEH B2 LS 520,000 520,000
OFH=: =02 =& &gy K& 520,000
sHE JIEAE &5 1,141,080 64,125 176,925
403 MR HHMSAH=01H 1,141,080 64,125 176,925
01 A= 2L 1,141,050 964,125 176,925
Oalghitg XNA%sE 1,141,050
SIHSUAY a2 A8 sIIAH KE 910,000 910,000 0
= 700,000
= 210,000
403 AXIEHHSA=201E 910,000 910,000 0
= 700,000
= 210,000
01 AR A =2 £ 910,000 910,000 0
O=&tA 20 A=t sJIH K& 910,000
= 700,000
== 210,000
S ALUAY SIIHLUHAIE A X 1,560,000 1,040,000 520,000
= 1,200,000
= 360,000
403 AXIEHMSA=Z0l1d 1,560,000 1,040,000 520,000




SN AR
M DEI SAS MADE 7S
Chol: Alzro| OLEN MAD|EH D (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,200,000
=S 360,000
01 A2 2L 1,560,000 1,040,000 520,000
SIHSUAMS A X2 1,560,000
= 1,200,000
< 360,000
SIAHSUAME ==2sI1AH A X2 1,040,000 585,000 455,000
= 800,000
= 240,000
403 AXIEHHSAH=201H 1,040,000 585,000 455,000
= 800,000
= 240,000
01 AXISHHA=2EE 1,040,000 585,000 455,000
CSSIAUA X2 1,040,000
= 800,000
s 240,000
SIHSSHER FERHAA 185,150 185,150 0
= 107,000
& 48,150
403 AXIEHMSA=Z0l1d 155,150 185,150 0
= 107,000
= 48,150
01 XIS A =2 185,150 185,150 0
OsIIASHER 25 X2 185,150
= 107,000
= 48,150
AYNESISIENSY WsHEE X 223,200 223,200 0
= 180,000
[ 43,200
308 AXIHS0IA 223,200 223,200 0
= 180,000
= 43,200
01 HAHHBAEXS 223,200 223,200 0
OMNSBEAAN NRALY 228,200
= 180,000
= 43,200
AENEISIGN=E ANEEH X 188,170 938,680 AT750,510
= 151,750
== 36,420
403 MR HHMSAH=01H 188,170 938,680 AT750,510
= 151,750
[ 36,420
01 MXIHHA 22 188,170 938,680 AT750,510
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SN AR
Hu: DEI SM2 MADIE DS
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMGHNESSSI LM ALEH N 188,170
= 151,750
== 36,420
ARSI SIGNSY AU K3 1,598,775 1,598,775
= 1,229,827
= 368,948
403 AXIEHHSAH=201H 1,598,775 1,598,775
= 1,229,827
= 368,948
01 AR A= 2 £ 1,598,775 1,598,775
OMHAESSSIEM AT=23t XIS 1,598,775
= 1,229,827
=S 368,948
SMUAMARNBEN WsHLE XS 130,200 130,200
= 105,000
& 25,200
308 AtXIEMSOIE 130,200 130,200
= 105,000
= 25,200
01 XN B EERS 130,200 130,200
O=0USMETBIH WsAHLE X2 130,200
= 105,000
= 25,200
SR HMHN TS AIEEH X2 310,000 310,000
= 250,000
[ 60,000
403 AXIEHMSAH=0IE 310,000 310,000
= 250,000
= 60,000
01 A= E2XE 310,000 310,000
O= LS HMTHXNZSH A2l X3 310,000
= 250,000
= 60,000
SMUMMARZSHN AZMEAE X 520,000 520,000
= 400,000
== 120,000
403 MR SHHMSAH=01H 520,000 520,000
= 400,000
[ 120,000
01 A= 2L 520,000 520,000
O= LM ZSH AXMEAIE K& 520,000
= 400,000
= 120,000
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SN AR
M NSE st daD|g 25
R A" HEH dab(g 15 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,000
308 AtXIEHMSOIE 268,500 0 268,500
= 210,000
= 58,500
01 HXSHH B EES 268,500 0 268,500
OMEA SIIAH K12 (H4) 118,500
= 105,000
=S 13,500
OHlg 2HEE 2 Bad=s QAN 150,000
= 105,000
< 45,000
NEtA B =222 79,000 0 79,000
= 70,000
= 9,000
403 THXISHMSAH=01H 79,000 0 79,000
= 70,000
=S 9,000
01 AR A =2 & 79,000 0 79,000
OXME A I XI&(Xh=2) 79,000
= 70,000
< 9,000
DNEE B-EM AHIEX DI 2= 6,806,860 8,755,200 1,948,340
= 5,182,500
= 1,624,360
=2 dI(XIXHM) KA (2E) 58,000 58,000 0
= 58,000
201 fer23| 40,000 40,000 0
= 40,000
01 At2t2lt] 40,000 40,000 0
Og=ac| 4tz 32,800
= 32,800
Og=ael Sl 7,200
= 7,200
202 04| 18,000 18,000 0
= 18,000
01 =LHAHI 18,000 18,000 0
oY= PP 18,000
= 18,000
k2 2te I (KIXHM) KR (AIZ2E4) 2,173,300 1,997,000 176,300
= 2,173,300
308 AtXIEHMSOIE 2,173,300 1,997,000 176,300
= 2,173,300
01 XN B2 LS 2,173,300 1,997,000 176,300




SN AR
3 NIFE sits e 25
el USE Sty AHIEN I8 = (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Og=2eldaEX 1,002,300
= 1,002,300
OZ RSl X2 1,171,000
= 1,171,000
H AENEAE X2 2,925,460 3,322,480 A397,020
= 2,507,200
= 418,260
403 THXISHMSAH=01H 2,925,460 3,322,480 A397,020
= 2,507,200
=S 418,260
01 A= 2L 2,925,460 3,322,480 A397,020
ORPC AZX - ME AEXIA 2,559,900
= 2,226,000
[ 333,900
ORPC ZBAIAIE JHE+ XIE 365,560
= 281,200
= 84,360
NSE HEHE SEHAMY 510,600 2,418,220 1,907,620
= 444,000
=S 66,600
403 AXIEHMSAH=01& 510,600 2,418,220 A1,907,620
= 444,000
< 66,600
01 A= 2L 510,600 2,418,220 1,907,620
ONSE4 2t | 510,600
= 444,000
= 66,600
NSEY A2 2SS X 1,009,500 829,500 180,000
308 AFAIEHMSOIE 109,500 109,500 0
01 AN N B2 LS 109,500 109,500 0
Osg¥ REX2A4H| X2 13,500
O=sZy Bs&| X2 96,000
403 MR HHMSAHE01H 900,000 720,000 180,000
01 AXISHHA 22 % 900,000 720,000 180,000
Os& % =% RPC(DSC) A&l X1 720,000
O3B M M2HEAIL K& 180,000
Sgg 82 & 5 =M 130,000 130,000
201 2= 130,000 130,000
01 At2t2lt] 130,000 130,000
OZ3ZEsL & s 82 130,000
OISZF Mab|gt AlE &5 23,958,388 19,670,158 4,288,230
= 3,118,005




SN AR
33 IFE site daje 25
R EUSH dADE Al &5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 3,890,583
CH 6,600,000
= 10,349,800
Dt=MAAlE SRS X2 412,332 365,144 57,188
Jl 284,367
= 127,965
403 AXIEHHSAH=201H 412,332 365,144 57,188
Jl 284,367
=S 127,965
01 AR A= 2 £ 412,332 365, 144 57,188
Ol NEE ALzt 412,332
Jl 284,367
< 127,965
FIAAMFZ IS =8 & 2eld] X3 43,000 53,000 10,000
Il 43,000
202 04l 5,000 5,000 0
Jl 5,000
04 =XIS+01H] 5,000 5,000 0
OFTAIONZ St THE H&= M=ot ARHEAL 5,000
Jl 5,000
307 @120l & 6,000 7,000 21,000
Il 6,000
02 2B YAIAE & 6,000 7,000 21,000
OFTAVIS A8 =8 & 2telt] 6,000
Il 6,000
308 XXM SOIA 32,000 41,000 29,000
Il 32,000
01 X SHHBAEES 32,000 41,000 29,000
OFTAOIS AtZHE =8 & 2ielHI(AZZ4) 32,000
Jl 32,000
TSESWE H2A XA 572,000 1,101,472 N529,472
= 440,000
= 132,000
308 AFAIEHMSOIE 572,000 1,101,472 N529,472
= 440,000
= 132,000
01 AXH B2 LS 572,000 1,101,472 N529,472
OxS=Sua BHAXH 572,000
= 440,000
s 132,000
Hest s =2 0ilst XN& 1,367,470 1,405,470 38,000
403 AXIEHMSA=0ld 1,367,470 1,405,470 /38,000




2A:
PSR
ool

NS SttE dag A=
PIHSE MAD|BE AL &F

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

01 AXISHHA =22 & 1,367,470 1,405,470 38,000
Olt= 855 |54 333,795
Odt=30E d=31H X2 554,880
oS AEM2MED X 333,79%
OJI=dstis tMa=s |4 145,000

AE20Ha XIS 1,003,422 1,093,073 289,651
Il 692,015
== 311,407

403 MR SHHMSAH=01H 1,003,422 1,093,073 89,651
Jl 692,015
[ 311,407

01 MHXIHH A 222 1,003,422 1,093,073 A\89,651
OAIZ 30l Btiat S& MM 845,082
Jl 582,815
= 262,267
Ot EHHES | 168,340
7l 109,200
= 49,140

2020k ICT g X& 282,321 874,901 592,580
Jl 217,170
< 65,151

403 MR HMSA=01H 282,321 874,901 /592,580
Jl 217,170
= 65, 151

01 AXISHHA=2E2 X 282,321 874,901 A592,580
OICT 858 ANEE ANEES 282,321
Jl 217,170
= 65,151

SH20F HUXIZZAIE XI& 1,662,962 1,662,962 0
= 1,139,974
== 512,988

403 MR HMSAH=0lH 1,662,962 1,652,962 0
= 1,139,974
< 512,988

01 MXIHHA 22X 1,652,962 1,652,962 0
OAIZ &0l ORI A& 1,652,962
= 1,139,974
= 512,988

SS20F ATHHMUHXIAIEZ X2 997,008 997,008 0
= 888,031
=S 108,977

403 AXIEHMSAH=0lH 997,008 997,008 0
= 888,031




SN AR
33 IFE site daje 25
R EUSH dADE Al &5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 108,977
01 MXIHHA 22 997,008 997,008 0
OXIgetgAld &X| X2 799,304
= 726,640
= 72,664
O3J12dTAIE XIS 197,704
= 161,391
=S 36,313
DFHIDIE THHHAIE K& 611,900 740,950 129,050
) 422,000
< 189,900
403 MR EHHSAHE01H 611,900 740,950 A129,050
Il 422,000
= 189,900
01 XA =2 E 611,900 740,950 129,050
O1= HIJHE MEHAIE XI& 611,900
7l 422,000
= 189,900
ANEHAE NSE HAAL &5 2,434,500 1,533,615 900,885
403 MR SHHMSAH=01H 2,434,500 1,533,615 900,885
01 AXISHHA 22 £ 2,434,500 1,533,615 900,885
OS2USIHOIES) A0EE 23 N 831,000
OHNSESH=2 diA g 22 510,000
OHUAIE ANEE NHSHOUAIAYE 7= 22,500
OZds Y& ANEH 2= 1,071,000
Hoszs Jde Hat 3,037,082 4,369,172 1,332,090
308 XXM SOIA 315,000 149,940 165,060
01 XN BSELS 315,000 149,940 165,060
OEFHUHALO2A G2 AE 105,000
O Ul 289 E2HE K& 210,000
403 AXIEHMSAH=201H 2,722,082 4,219,232 1,497,150
01 XIS A =2 2,722,082 4,219,232 A1,497,150
Od0xE d=stEH| X2 381,000
Otl4As RYA= 2= 54 A 255,000
Odz=E dal-dsY s 178,500
O0l&lIZ= S Mol Hes= L&t 178,500
OSSR NAREE 1,729,082
NSESE A& & +=SAEXE 255,000 255,000
403 TR M SAH=01H 255,000 255,000
01 AR A =2 £ 255,000 255,000
O35l At BHSH A5} 255,000
N2KEMHARS(LXM2AIE) (REXIEH) 127,467 127,467 0

_11_




SN AR
Hu: DEI SM2 MADIE DS
Rl JUSE dae AlE EE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 98,051
=S 29,416
403 X HMSAH=01H 127,467 127,467 0
Jl 98,051
== 29,416
01 A= 2L 127,467 127,467 0
OdlisttE N2RSHA 25 127,467
) 98,051
& 29,416
MessHARS(M2+SXHe) (XIEH) 14,274 14,274 0
Jl 10,980
= 3,294
403 THXISHMSAH=01H 14,274 14,274 0
Jl 10,980
=S 3,294
01 AXISHHA =2 & 14,274 14,274 0
Odlsats N2+EXHE Xz 14,274
Jl 10,980
[ 3,294
LNESSILMESLSXH(XXIEH) 806,000 1,767,000 961,000
= 650,000
= 156,000
403 AXIEHHSAH=201d 806,000 1,767,000 /961,000
= 650,000
= 156,000
01 AR A =2 £ 806,000 1,767,000 961,000
Oogxs =543 54 806,000
= 650,000
== 156,000
HAFMAHE KR (RIMETXIH) 573,300 573,300
308 AXIHS0IA 573,300 573,300
01 HRHHBSEEXS 573,300 573,300
OMAFJ LI XA 573,300
sttE ot & g8 d 540,000 540,000
308 AXIHMSO0IA 540,000 540,000
01 AXEH B EES 540,000 540,000
OFestts JHAE & 540,000
ESXNE NLEUs N (HA) 178,350 178,350 0
Il 123,000
== 55,350
403 AXIEHMSAH=0l 178,350 178,350 0
Il 123,000




SN AR
33 IFE site daje 25
R EUSH dADE Al &5 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 55,350
01 MXIHHA 22 178,350 178,350 0
OS2 NE8da N (HA, 2A8) 178,350
Il 123,000
= 55,350
HAF SotEE A4 X3 2,450,000 0 2,450,000
Jl 2,000,000
=S 450,000
403 X SHHMSAH=01H 2,450,000 0 2,450,000
Jl 2,000,000
< 450,000
01 XA 22 % 2,450,000 0 2,450,000
OMaxF EotXE A4 K& 2,450,000
Jl 2,000,000
= 450,000
SUE ANEY HAxE 6,600,000 0 6,600,000
CH 6,600,000
403 MR HHMSAHE01H 6,600,000 0 6,600,000
CH 6,600,000
01 AXISHHA=2E XL 6,600,000 0 6,600,000
OdHe ANEE Sy 6,600,000
CH 6,600,000
deF=sZHI|e =4 26,981,987 33,413,097 26,431,110
= 15,981,000
) 2,763,000
= 8,237,987
IS X2 435,000 319,000 116,000
= 300,000
= 135,000
308 AHXIHMSO0IA 435,000 319,000 116,000
= 300,000
= 135,000
01 XN B2 LS 435,000 319,000 116,000
SIsSAM X2 435,000
= 300,000
== 135,000
=) &bz X2 2,264,035 13,898,320 11,634,285
308 AtAIEHMSOIE 2,264,035 13,898,320 211,634,285
01 HASHHBSEXS 2,264,035 13,898,320 11,634,285
O=JIZdlg K& 2,264,035
ENEM X2 12,264,000 12,264,000 0
= 9,722,000




S AR

I DEN SN2 MOIE 7S
ol derdsgllet &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,542,000
308 XXIHMSO0IA 12,264,000 12,264,000 0
= 9,722,000
= 2,542,000
01 X HHBLEEF 12,264,000 12,264,000 0
OELHEHM X 12,264,000
= 9,722,000
= 2,542,000
HiZ JtZotdE X 6,000,000 0 6,000,000
= 5,000,000
= 1,000,000
308 XXIHMSOIA 6,000,000 0 6,000,000
= 5,000,000
< 1,000,000
01 AXSHHEAEXS 6,000,000 0 6,000,000
OdlE JtAetd K& 6,000,000
= 5,000,000
= 1,000,000
TS ZEHI MAAI S S HBIALS 210,000 130,000 80,000
| 100,000
= 110,000
403 XX SHHSKH=01A 210,000 130,000 80,000
| 100,000
< 110,000
01 AR AH22 £ 210,000 130,000 80,000
OBSBHEIIMAAISHTI 8! 120,000
Il 100,000
= 30,000
ONAYBE syl MuAE N £0,000
sHEZEEd T2 682,500 292,500 390,000
= 525,000
= 157,500
308 XXM SOIA 682,500 292,500 390,000
= 525,000
= 157,500
01 AXSHELEES 682,500 292,500 390,000
Osgszed 22 622,500
= 525,000
T 157,500
LR SHSAE KIE 564,000 650,000 86,000
= 434,000
s 130,000
308 XXM SOIA 564,000 650,000 86,000
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